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<Switch> system-view
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[Switch] acl ipv6 number 2000

[Switch-acl6-basic-2000] rule permit source 4050::9000/120
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[Switch] acl ipvé number 2001

[Switch-acl6-basic-2001] rule deny source any
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[Switch] traffic classifier c_permit

[Switch-classifier-c_permit] if-match acl ipvé 2000
[Switch-classifier-c_permit] quit

[Switch] traffic behavior b_permit

[Switch-behavior-b_permit] filter permit
[Switch-behavior-b_permit] quit
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[Switch] traffic classifier c_deny

[Switch-classifier-c_deny] if-match acl ipvé 2001
[Switch-classifier-c_deny] quit

[Switch] traffic behavior b_deny

[Switch-behavior-b_deny] filter deny

[Switch-behavior-b_deny] quit
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[Switch] qos policy test

[Switch-gospolicy-test] classifier c_permit behavior b_permit
[Switch-gospolicy-test] classifier c_deny behavior b_deny
[Switch-gospolicy-test] quit

[Switch] interface Ethernet 1/0/2

[Switch-Ethernet1/0/2] qos apply policy test inbound
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